Name: _________________________________________________ Period: ___________ Date: ________________
Order of Operations with Parentheses       	Bell Work		  Math 5
	
Answers:
The given numerical expressions are solved in two different ways. Which solution is correct and why?
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Solution A is the correct answer because it followed the PEMDAS rule.



	2.
	
Solution A












	
Solution B




















Solution A is the correct answer because it followed the PEMDAS rule.
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Solution A
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Solution B is the correct answer because it followed the PEMDAS rule.
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